SHeFE

% B Lo B 5 8O = AT
mAREMIEPESEANAME

- 105 -



- 106 -



AR H A IE T HE R A E

1% &
(= A)
= FHIERTDO%E # IE # 3t
S S Y
1 BAEEIXA 1 2 3
2 AL 12,647 7,463 20,110
4 fEAE 2,010 A2,010 0
= AN & &t 14,666 5,455 20,121

- 107 -




= )

= MIERTDHE # 1E 4 #
M eS| N
1 BXH& 14,664 5,455 20,119
= M A& F 14,666 5,455 20,121

- 108 -




E

i IE B o M BE KN R
i "

s
ERXHE

w5 &

z D

ftls

— & IR

FH

FH
5,455

FH

5,455

- 109 -




2 m A

13 MEENA
158 RBPEENA
H MIERTD%E W IE # #
/M M /M
1 HHBHRELEINA 1 2 3
g 1 2 3
23K A&
15H &AE&
1 ESEERAE 12,647 7,463 20,110
&t 12,647 7,463 20,110
43K EAE
155 A&
1 LHBH RS AL 2,010 A2,010 0
# 2,010 A2,010 0

- 110 -




gl{g

By

X 4 R
M M
THIBARE S 2 | LHIBRRE SR T
XA
EHIEREE 7,463 | EHIIERFERIISFHEAE
RERISFHRA
&
THIBR R E S A2,010 | THIBARELSEANE
fEAE

- 111 -

T BRI




3 m W
13 #EX&
13H X4
M EHEOOMEARNR
A FIERTO%E IE%E Ha % & Bt b/t R
EHEXHE | #HE Zo, ‘
F Fy Fi FH FH FH FH
1 HHpESRRE 12,654 7,465 20,119 7,465
&
2 e 2,010 A2,010 0 A2,010
§ 14,664 5,455 20,119 0 0 5,455 0

-112 -




#h ] 7 ¥ KN £
X & i
FH FH Fy
22 EBREFFR 7,463 | THIBRFE L AfE A SRS TR R SR & 2
OVEI5 6} T HIBARESEA LIRS 7,463
24 FES& 2 | LHIBARESE NS
27 & A2,010 | EHEREFEESEHRHE EHERE LR SFHRHE
A 2,010
T HI ISR RIS E

- 113 -




- 114 -



